
����#��

ACTIVITY 2.2

 ������	
����
���

	
&��

��������	


.��� �


� ��� ���� �

��� �
���� ��
�� ����� 	����� 
�� ���� �
��
�



���������
��������	�
	���
��
������������������
������������
�

���
� 	������ ��
� ��������� � ��� �� ������ 
���� ��� ���� ���� �


� ����


��������
� 
�� "� 
��������� �
���������� � ��� ��� ��	
������ ����

����������
���
�����������	����������	
���������
����������
�����

	�
��
�������������������������
��
����������


���������������

���
�
�����

��
	��

������ $


���������%�����������&�

� 3������������� �� ����� 
�� ���� ���� �


�� ����� ����� ������ ��� ���

�����2F��
���

� +��������������� 

� ����������
�������������


��
������
�G���������


���
�

������ ���
��G� ��
�� �� ����� 
�� ���� ��� �����	
���
� ��
�

��
����������
�������
������

� ���������������


�
������������
���

� A��
� ���� 5


� 8������ ���

��� �
� ���
� 
��� �
�� ���������
���

������
�������

� 0����������
������
��
������������
������


�
�����������

� !��������������������������
��
���������������
�����
��
������

�����
���������


��������������
����
��������0
��
�������
���

�������������
���
�����������������

���
��
�	�

�  ���������

!������� ����� ���� 	�
	��� ��
����
��� �
� �
��� ����� ���� ���
��

�


�� ����� ��
����� ��� ��
�� ��
��
� ���� �
��
�� � 0
��
� ��� ��

	
��������
����
���
��������	��������
����������

������
�����

���������������
������

������������������
��
���
����

3����������������
�
����
�

����������
��	�����

�������
�����������


#�

��������

��
���� �

���� ��

��
�� ����
�

���������� �0�
��������

��
H
����������
�	�

���
�
������������

������������������	
�

� ��
������
�������	
�)

������
�����������������
�

� �		��������������������
�

	��������
��������

� ���
�
���
������	����
���

� 
�����
������
��

��������	��

� C�
�	�����������

� +��������
������
����
�

�
���	������
����
�����)

��
�

��
����

� �����������
�

� +		�������
��
���	�����

��
����������������
�

����	
	��������
	��

�99

��

33$
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The potato was domesticated from wild plants in the
mountains of Peru long ago.  Farmers there have developed
100’s of varieties that have different flavours and colours,
are adapted to different climates and altitudes, are resistant to
different pests and diseases, and are appropriate for different
types of preparation  (baking, frying, etc).  European
explorers brought back a few varieties to Europe and by the
1800’s, the staple food of Ireland was the potato.  In the
1840’s, a fungal infection called “the blight” wiped out the
potato crop.  It is estimated that one million people starved
and as many emigrated to other countries.  Why was the
blight so devastating?  Because all the potatoes grown in
Ireland were one variety; there was no genetic variation and
every potato was susceptible to the disease.
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